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Section A ; S .

Quéstions 1 to 14 carry 2 marks each. For each quistion, four optiohs are given. One of
them is the cerrect answer. Make your choice (1, 2, 3 or 4). Shage the oval (1,2,'3 or 4)
on the Optical Answer Sheet with a 2B pencil. {28 marks)

1 In'10.296, what is the value-of e digt 2?7’

(1y 20
(2) 200
(3) 2000
(4) 20000

2 Which of the following numbers is 15 010 when rounded off to the nearest 10?

(1) 15106
(@ 15016
{3) 15014
(4) 15004
3 Complete the number pattern.
23114 , 22614 , 22114 | , 21114
(1Y 21314
(2) 21414
(3) 21514
@) 21614
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4 Inthefigure, which line is perpendicularto CD?

(1) AF
(2 ED
(3) FD
(4) FC

5 When a number is divided by 8, the quetient is 184. What-s this number?

(1) 13
2 23
(3) 872
(4) 1472

6 54 is not a multiple of

() 9
2) 6
(3 3
(4) 4
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7 There were 298 -passengsis who-boarded fhe cable:car.to.Sentosa in:the meming.
Eaeh-cabin-could-cary-6 passérgers: WhHatisthe least-number-of- eabins negded

to carry all the passengers?

(1) 48
-‘ 2 49
(3 50
4 51

8 Express’ 3% in its simplest form.

1
1 —
O
40
2 ==
2) 12
1
3 3~
@ 35
2
4 3=
(4) 5
9 Johan has 40 marbles. He gave % of it to his cousin. How many marbles had he
left?
(1) 8
@ 10
(3) 32
{4) 50
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10  Mr Cheng finished polishing and waxing his car'at-1.25.p m.. He-feek.’;l'—%,h.i_ wash.

and Z%h to polish. What time did-he start?

(D 10.00 a.m.
(2) 10.04 a.m.
(3) 10.14 a.m.

{4) 1048am.

11 Whatis the sum of % and 3 -;—m the simplest form?

: 7
1 .
(1) 10
2

2 3—
@ 32
4

3 3—
(3) =
7

4 3—

(4) 10
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12 The il gure below is made up of a square and a circle. The area ef the sl haded cirdle..
is 16 om®. Givér 1hat the drea of the square'is 4 times the. area of the: carcle Whitis .

the length of AB?

)
@
3)
“.

A
| %
? em
Y
B
64 cm
16 cm
g 8'cm
4 cm

13  Look at the composite figure below. What is the perimeter of the shaded figure?-
70 cm

(1)
(2)
(3)
)
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- 14 x.O=A
O+ -

If A is a multiple of B, what is ihe-‘bés_‘f%itﬁj]e value of O ?

M 1
@ 2
@ 3

5

@

P4 Math SA1 2012 6



Section B
Questions 15 to 34- cany 2 marks each. Wiite Yyouranswers in the spaces: prowded For
- questions which require units, give your answers in.the-tinits: stated. '

(40-marks)
15  Wiite forty-three thoysands :and fourteén tensinfigures:
Ans:
16 Find the value of 2001 — 549.
Ans:
17 A number between 6 and 11 is a-multipte of 4. What is the number?
Ans:
18  Form the smallest five-digit even number using all the digits below.
0, 7, 8, 2, 5
Ans:
P4 Math SA1 2012 7 8
o~




18 Which'tw of the Frastions bélow are equivalent to %?

3 4 10 12
46 12 16

Ans: and

20 1450 % 9= .

Ans:
21 Whatis the rémainder when 1145 is divided by 37

Ans:

., 97 . L

22 Wirite o as a mixed number in its simplest form.

Ans;
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23 in the figure below, ABCD is a square. ZADE = 25°. Find the value of Zp.

E

A ]

Ans:

24 In a car park, there are 35 cars and'%nbtorbik:es_. If there are 120 wheels altogether,
hew many cars are thére? '

Ans:
25 What is the missing mixed number in the box?

I Y T AU IS N AN NN RN AU B N A I
I B D D D D D I

3 ?

62
6 - 8
Ans:
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e (-t
e gE e

What is the missing number in the box?

nee 3k - -

Ans:

27 Using a protractor and pencil, construct an angle such that ZDEF = 110°,
Mark and label the angle.

28 How many pairs of perpendicular lines are there.in the diagram shown below?

Ans:
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29 Draw a line perpendicular to the line AB passing through point C within the box and
label it CD.

/

30 The figure, not drawn to scale, shows a rectangle. If £ y is 25°and the size of £/ x
is twice the size of £y, find the size of £ z.

Qo
Ans: )
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31 Jasmineis'standing in the middle of the:8-point campass facing North-West.
Where will she be facing if she makes a% - turriielockwise?

NW A

Ans:

32 The perimeter of a rectangle is 34 cm. If the breadth is 8 cm, find its area.

Ans:

cm
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The figure belew not draWn to'scale, is made up of 3 ide Mnh,gal,,r,e:;fa iriglis.

The fotakarda is ¥ eiv. The breadih of gach’ reetang1e is 3 cmi. WREEIS the.
perimeter of the figure? |

33

Ans: cm

34 The floor of a rectangular room is 15 m'by 12 m. What is the area of the carpet if

there is a border of 11 areunei *t'?

15m

4

12 m

Ans: m?
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Section C

j 'aa}’”"l‘ﬁ‘m’ahﬁ migk Paul fecewed" $23‘5f1éé“s"?fﬁan fom
‘,:_;_ameunt as Patil, - How: much MOReY’ dld Tem.reeéive‘?

35  $E427-wisShared:
and B l;ck‘ reee,_ SR

Ans: {31]

36 Saniny hds.thiice.as.many. biscuits as:Meilin: Thedetal number of Sammy's and
Meilin's biscits.is. twice that of Amiy’s. The thieeof them'have a total of 210
biscuiits. How.manv more biscuits does Sammy have than Meilin?

Ans: [31]

Ak ach. Show your

Questxens 35“ i 3&carry 3-md ks eaeh. Questions; 39 16,43 cafnk
Ekingclez il ﬁacei:p d ed belovﬁeae}‘i ‘Guestion:and:WEleYouTr answers: -ihe . .
spaces p“rewded C A f_SﬁmaFKs)
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37 The perimeter of a rectangle is twice the perimeter of a square. The length of the
squaresis 7-&in ang thesreadth o igeetanale:is O om. Whatis theared obthie
rectangle? | - -

Ans: : [3])

38 Baia ‘enjoys €ating ;égﬁg@ﬁé;g. Each 'd,‘ay;_ he would eat 2 more chocolate than the
previeus day. I he'dte:a 16fal of 27 checolate in 3 days, how many of such
chocolates. did he stait with on.the first day?

Ans: -~ [3]
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39 A piece of wire, 14 criTany; IsCatintG fWoeguar pistes, A and B Nife & is bént 1o )
form-a-triangle.-Wire-B-is-cut intortworpieces again and (iSed 1o Toim a reciangie . and
a square as shown in the fig igure below.

18 em

waten

.The perimetergf the triangle is 3 tlmes,,the perineter of the square. Find #ié breadth

of the rectangle.

Ans: . 14]

40  Ataparty, % of the people attending were adults. % of the children were boys.

If there were 48 girls, how many people were there at the party?

Ans [4]
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41 Lydia makes pattems using black and white beads and match sticks as shown

below. -

Pattemn 1 :

.| "Paitem 6

Pattern 305

@6 ____

(&) ()

?
(@) Complete the table. { 2]
(b) How many ?ﬁétehstic;ks does she need to-complete Pattern 3057
Ans: (b) {2]
P4 Math SA1 2012 17 | 4
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A rectangular sheet of paper ABCF is feldeé as. sh@wn i ihe figure-Eaiuve.
The figiite above is net drawn to-seale. :
Giveiy that 7 BAE="20°% 8C =20 ¢m, Ch = 15 cm-and BF =106 6m,

a) find £x and
b)  the area of the shaded pari.

Ans: (a)

(b)

[2]
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43. Linda had 424 beads and Mary had 188 beads. After each of them gave away an
equatnumberaf—beads Linda-had:thrice-asmany-beads igit-as-Mary.

() How many beads did they hive sitegetisr
(b)  ‘How many beads did Lindergive away?

Ans: (a) [1]

(b) [3]

End-of-paper

Please check your work carefully.

P4 Math SA1 2012 19




EXAM PAPER 2012

SCHOOL : AITONG ]
SUBJECT : PRIMARY 4 MATHEMATICS

TERM : SA1

QL1 Q2 }03]0Q4tQ5 QG o7 [ 08 ] 0 [ow[oii[o2[e3[ia}
3 2 4

2 | 314 | 3]4141]3 1 31213

15)43140 16)1452 17)8 18)20578 . 19) % and 12/6

20)13131 21)2 22)6143 23)65° 24)25

25)7517 26)2 273\ 28)8

29) D

A C

30)15° 31)South-West 32)72cm2 33)30cm 34)130m2
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$6427 4235 = 36195
:$61—,92‘-Z—»3 = $2064
$2064 + 235 = $2299

36)s}

F210

21056 = 35

lunit = 35 biscuits
35x3 =105
105-35=70

37)28 x 2 =56
) 56—-18 =38
382 =19
19 x9 = 171ecm:

385 +7+9
6+ 8+ 10
7+94+11

Ans: 7

39)144:3 = 48
18 + 18 =33
48 -36 =12
12:2=¢

40)3/5------- Girls
483 =16
16 x 5 = 80 (no.of children)

1347 = 4/7 (fiaction of children)

804 =20
20x7 =140

"I $6427
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41)a)i)6 ii)14
b)305x 2 = 610
610 + 2 = 612

42)a)90 — 20 = 70
70+2 =35
b)Area of ABCF = 20 x 25 = 500
area of AA = D + area of AADE
= area of rectangle
=10x 20 = 200
Area of shaded part = 500 — 200 = 300

43)a)424 + 188 = 612

b)
, 1u 2 units
L 18&? 424 ~ 188 = 236
M| 188

236+2 = 118 (lunit)
118118 = 70
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